
Order of Math Operations with Numbers -100 to 100 (E-4)
CHALLENGE

Name:

Time: Score: /

225)

((6÷ 3× (−8))× (−5))÷ (((16÷ 8) + 30÷ 10)) + (81÷ (−9)) =

226)

(3− (−90))÷ ((32÷ (−8) + 1))× (((8÷ (−8))× (−5) + (−2))) + 84 =

227)

34− 62 + 6− ((36÷ 4− (3× 4− 8))÷ (94− 89)) =

228)

(((94 + (−72))− 18))− ((0× 0)× (−5)− 9)− (5× 6 + (−40)) =

229)

(((0× (−8)× 4))÷ (−40))÷ ((8× 0)÷ (90 + (−70))÷ 64− (−30)) =

230)

((2× 0× (20÷ (−2)− 8× 6 + 2))÷ (14÷ (−2)))÷ (−56) =

231)

42− 3− ((8÷ 4 + (−2))) + 1× (−1) + (((45− 7)− (−2))) =

232)

(((0÷ 4÷ 37)))× 0× 4÷ (−97)× (((53 + (−97)) + (−10)) + 81) =
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